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Let a=b=c → Farmiga.

① :&

lit a :b → Taa >
'
+ Ta

' "

+ Tea ,V=o Eau Ici symmetric
→ T.aaj-z-a-Y-ov-a.org @

multiply @ G V and use @ → -acaya=•faÉ_✓③
Now look at ① and ③ if a I ≠ . → Tako ta and

Tac = ◦ Hc
,

this '

mean that all Ia-= . ta,c→ -6=0 . ✓
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% Fbc + % Fa + % Fab = o

But Pat a Fibe - Tai Fmc - Tai Fbm @

① • @ → Ja Frou - th#Fmc - T From +

Jb Fca - T%ma -T:#am +

Jc Fab - T.cat/-mb-THF//am--o
where we have used the anti-symmetry f F and the symmetry

of P . This
→ Ja T.be +26 Fca +2 a Fab - • →
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the Schwartzckildfa start man M : Rs = 26¥
1- = the radius f star.

For a black hole r ± Rs or re 24%
Since M= g. nip → r=(a-e)

"'
thus we want

⇐÷j" ≤ 20¥ or ,-%ÉM
\
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Ii
= ( 1- 2¥) dt - ( i-Y-jdi-icdi-s.iode

'

) .

For the equatorialplane at fixed time :
di = ( 1-21-51di+ ido

true draw a circle on this plane and calculate its perimeter . : ◦ >Lf ◦
1
, ①

R = Coordinate radios.

R

¥
1- = Radius of the sphere =! y¥,dh

I

%&÷¥µiÉÉÉµ-¥É%: . ¥-1: ed ¥.
Rn

i = ⇐ =)⇔

¥
,

s
Ri

where we assume tht R, ,Rid
2m

R-
→ L ± f dr( I + %) = (R -R) +mln ¥
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Pi = f Ride = 2nA ¥4M# 4--6%1
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P2 = f Ride = 2nA → Pz- P, = 2n( Re- R, ) ≠ 2mL
•

→Hai µ,#, _
.
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we first find t
'

rr
- L={ ( 1-2%ji+{ñÉ

%-= iitro" G- = ( 1- ¥ii g. = . ÷=ññ(r-2mV

Euler-Lagrange Equations : ¥=¥ → -4-2%5 :-. ii-iu-zm-rjii.EE
( t-2m) 2

+rid

= ¥ → ◦ = zriie + iii @

Rewriting ① • @ → { ii-nmr.ir?riirir---;q→ Troy = -r
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all the other Christoff

symbols = °.

the hare :






























the Riemann Tenor : in 2D has only one cowpats. R' in .
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-Mark
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or
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= 2. (-4-(-41-22))
Sincetwitter.rhg.rs = -1 -→
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no = ÷ = -É

→ R
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nonzero, → this plane is
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crvedr Moreover :


